50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

ester B.E. Degree Examlnaﬁ on, Feb./Mar. 2022
Operating Systé'ﬁl

17ECS553

Max Marks: 100

1 ~ % (06 Marks)
. Explain various computatlonal%tructures of OS. Y/ (08 Marks)
c. Explain various resources allo%atlon strategies. (06 Marks)
2 . (10 Marks)
b. (05 Marks)
c. (05 Marks)
3 a Deﬁanmcess (02 Marks)
b. With:the help of state transition dlagram explain different (10 Marks)
c. What is meant by thread? Expl%m TCB and dlSCUSS thfee methods of unplementmg threads.
(08 Marks)
4 a ’~ (04 Marks)
b Calculate the turn around time and wath*d*éturn around tlmc of the given process for
(08 Marks)
; Proces‘ P, | P, | P3| Py
Arivibfine | 0] 2 |3 55
Sétyice time | 3 | 32 S
c Explam”“&‘iong term and medni“m and short term scﬁedulmg (08 Marks)
5 a j"What is memory compa,ctlon? -~y (03 Marks)
~ Bxplain contiguous angl noncontiguous rﬂ%mory allocation. (08 Marks)
Write short notes om &
i)  Paging, >
i) Segmentahon
iii) Segmentation with pagmg (09 Marks)
OR
6 a. Explain demand pagin and demand loading of pages in detail. (10 Marks)
b. Write short note on:
i)  First-In-First Out (FIFO)
i) Least Recently Used (LRU) page replacement policies. (10 Marks)
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Module-4
a. Explain system and IOCS layers. (06 Marks)
b. Explain the fundamental file organization. (09 Marks)
c. Explain directory structure. (05 Marks)
OR
a. Explain file control block. gV (04 Marks)
b. Explain the working of file action at open@a close. z»»ﬁ%f%i i (10 Marks)
c. Explain indexed disk space and allocations, (7 (06 Marks)
a. Define message passing. Explain’ (10 Marks)
b. Explain operation of mail b? €8¢ (10 Marks)
» OR .. CMRIT LIBRARY
a. Define a deadlock. Expiam%eadlock n resource aﬂoeﬁitlomx ALORE - 560 037 (10 Marks)
b. Explain the cond1t10n§ for a resource deadlock. (04 Marks)
c. Explain deadlock ﬁ“efectlon algorithm and resolutlon (06 Marks)
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